


TEST-04 PHYSICAL CHEMISTRY · MCQ · Questions Page 1 of 29

Correct: +2

TEST

TEST-04 PHYSICAL CHEMISTRY

QUESTIONS

SECTIONS

1. MCQ - 50 Questions

Section 1 : MCQ - 50 Questions

1   A 2.5 L flask contains 0.25 mol each of sulphur dioxide and nitrogen gas at 270C. The partial pressure of
SO2 is

2-5 yhVj ds ,d ¶ykLd esa 270C ij 0-25 eksy lYQj MkbvkWDlkbM vkSj 0-25 eksy ukbVªkstu xSl gksrh gSA SO2 dk vkaf’kd ncko gS

2.49 × 105 Pa

4.98 × 105 Pa

3.49 × 105 Pa

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

2   Which of the following is the correct formula for kinetic energy based on dimensional arguments?
            fuEufyf[kr esa ls dkSu&lk vk;keh rdksZa ij vk/kkfjr xfrt ÅtkZ dk lgh lw= gS\
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More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

3  Which of the following is molecular solid

 fuEufyf[kr esa ls dkSu&lk vk.kfod Bksl gS\

Silica flfydk

Calcium fluoride dSfYl;e ¶yqvksjkbM

Methane ehFksu

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

4 The vapour pressures of water, acetone and ethanol at 293 K are 2.34 kPa, 12.36 kPa and 5.85 KPa 
respective. Which of the following has the lowest boiling point?

 293 K ij ikuh] ,lhVksu vkSj bFksukWy ds ok"Ik Øe’k% 2.34 kPa, 12.36 kPa vkSj 5.85 kPa gSaA fuEufyf[kr esa ls fdldk DoFkukad
lcls de gS\

Water ikuh

Acetone ,lhVksu

Ethanol bFksukWy
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More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

5  In 2NH3  N2 + 3H2, the order of the reaction is 2NH3  N2 + 3H2, esa] vfHkfØ;k dh dksfV gS

Zero ’kwU;

First izFke

Second f}rh;

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

6  Which of the following statements is correct?  fuEufyf[kr esa ls dkSu&lk dFku lgh gS\

The equilibrium constant can be used for calculating the equilibrium concentration.lkE; fLFkjkad dk mi;ksx]
lkE; lkanz.k dh x.kuk ds fy, fd;k tk ldrk gS

The direction of the reaction can be predicted by the use of the equilibrium constant.vfHkfØ;k dh fn’kk dk
vuqeku] lkE; fLFkjkad ds mi;ksx ls yxk;k tk ldrk gSA

The value of the equilibrium constant is dependent on the initial concentration of reactants and productlkE;
fLFkjkad dk eku vfHkdkjdksa vkSj mRiknksa dh izkjafHkd lkanzrk ij fuHkZj djrk gS

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha
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7          Determine the exidation numbers of the active elements in the following compounds:

KMnO4, K2Cr2O7, KClO4

         fuEufyf[kr ;kSfxdksa esa lfØ; rÙoksa dh vkWDlhdj.k la[;k fu/kkZfjr dhft,%

KMnO4, K2Cr2O7, KClO4

+7, +6, +7

+6, +7, +6

+7, +7, +6

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

8  Which of the following is the correct equation?

 fuEufyf[kr esa ls dkSu&lk lehdj.k lgh gS\

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

9  Choose the correct statement.
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  lgh dFku pqfu,A

The colour of the indicator is in between that of the corresponding acid and its anion.lwpd dk jax lacaf/kr vEy
vkSj mlds _.kk;u ds chp dk gksrk gSA

Methyl orange has red colour in acidic region and yellow colour in alkaline region. feFkkby vkWjsat dk vEyh; {ks=
esa yky jax vkSj {kkjh; {ks= esa ihyk jax gksrk gSA

Methyl orange is acidic indicator. feFkkby vkWjsat vEyh; lwpd gSA

More than one of the above mi;qZä esa ls ,d ls vf/kd  

None of the above mi;qZä esa ls dksbZ ugha

10   Which indicator will be suitable for the titration of HCOOH and NaOH?
 HCOOH vkSj NaOH ds vuqekiu ds fy, dkSu&lk ladsrd mi;qä gksxk\

Methyl orange feFkkby vkWjsat

Phenolphthalein  QhukW¶Fkyhu

 Methyl red feFkkby jsM

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

11  Cell reaction will be spontaneous if

 Lksy vfHkfØ;k Lr%LQwrZ gksxh] ;fn

 is positive
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is negative

 is negative

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

12 What are the key factors of solid-state reactions ?
  Bksl&voLFkk izfrfØ;kvksa dk izeq[k dkjd D;k gS\

Size of the particles d.kksa dk vkdkj

Environmental factors Ik;kZoj.kh; dkjd

Mechanical properties of solids Bksl inkFkksZa ds ;kaf=d xq.k

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

13 Which solid structure has a definite and sharp melting point?
  fdl Bksl lajpuk dk xyukad fuf’pr ,oa rhoz gksrk gS\

Crystalline solids fØLVyh; Bksl

No type of solids fdlh izdkj dk Bksl ugha

All types of solids lHkh izdkj ds Bksl
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More than one of the above mi;qZä esa ls ,d ls vf/kd

 None of the above mi;qZä esa ls dksbZ ugha

14    ______ is a crystalline’s basic repetitive structural unit.
   ______ ,d fØLVyh; dh ewy nksgjkonkj lajpukRed bdkbZ gSA

Monomer ,dyd

Molecule v.kq

Unit cell ;wfuV lsy

More than one of the above mi;qZä esa ls ,d ls vf/kd  

None of the above mi;qZä esa ls dksbZ ugha

15  Sulfur exists in two polymorphic forms ____ and ______ .
  lYQj nks cgq:ih :iksa ______ vkSj _____ esa ekStwn gksrk gSA

rhombic, monoclinicjkWfEcd] eksuksfDyfud

rhombic, triclinic jkWfEcd] VªkbfDyfud

hexagonal, triclinic gsDlkxksuy] VªkbfDyfud

More than one of the above mi;qZä esa ls ,d ls vf/kd  

None of the above mi;qZä esa ls dksbZ ugha

16   What is the total number of Bravais lattices in the crystal structures?
  fØLVy dh lajpukvksa esa czSfol tkydksa dh dqy la[;k fdruh gS\

3

6
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14

More than one of the above mi;qZä esa ls ,d ls vf/kd  

None of the above mi;qZä esa ls dksbZ ugha

17 What are the crystallization’s initial materials?
 fØLVyhdj.k dh izkjafHkd lkexzh D;k gSa\

Liquid, aqueous solution, emulsion rjy] tyh; ?kksy] beY’ku

Gas, aqueous solution, foam xSl] tyh; ?kksy] Qkse

Aqueous solution, melt, glass or gel tyh; ?kksy] fi?kyk gqvk] dk¡p ;k tsy

More than one of the above  mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

18 Which of the following volumes occupied by a single gas in a mixture at the same temperature and pressure
is referred to as the single-gas volume?

 leku rkieku vkSj ncko ij feJ.k esa ,dy&xSl }kjk O;kIr fdl vk;ru dks ,dy&xSl vk;ru dgk tkrk gS\

Absolute volume iw.kZ vk;ru

Partial volume vkaf’kd vk;ru

Total volume of a gas mixture xSl feJ.k dk dqy vk;ru

More than one of the above mi;qZä esa ls ,d ls vf/kd  

None of the above mi;qZä esa ls dksbZ ugha

19  The pressure that a single component in a gaseous mixture would exert if it existed alone in the same
volume as the mixture and at the same temperature as the mixture is referred to as

xSlh; feJ.k esa ,d ?kVd tks ncko Mkysxk ;fn og feJ.k ds leku vk;ru esa vkSj feJ.k ds leku rkieku ij vdsyk ekStwn gks]
mls dgk tkrk gS

absolute pressure iw.kZ ncko
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partial pressure vkaf’kd ncko

total pressure of a gas mixture xSl feJ.k dk dqy ncko

More than one of the above mi;qZä esa ls ,d ls vf/kd  

None of the above mi;qZä esa ls dksbZ ugha

20 ______ obeys Raoult’s law in all stages of concentration.
 _______ ,dkxzrk ds lHkh pj.kksa esa jkmYV ds fu;e dk ikyu djrk gSSA

Ideal solution vkn’kZ foy;u

Non-ideal solution xSl&vkn’kZ foy;u

        Real solution okLrfod foy;u

More than one of the above mi;qZä esa ls ,d ls vf/kd  

None of the above mi;qZä esa ls dksbZ ugha

21 When two perfect solutions with volume V each are combined, then what is the volume of the solution as a
result?

tc V vk;ru okys nks iw.kZ foy;uksa dks la;ksftr fd;k tkrk gS] rks ifj.kkeLo:Ik foy;u dk vk;ru D;k gksrk gS\

V

2V

Greater than 2V 2V ls vf/kd

More than one of the above mi;qZä esa ls ,d ls vf/kd  

None of the above mi;qZä esa ls dksbZ ugha

22   The negative side of the heat of solution or mixing is the
 ?kksy ;k feJ.k dh xehZ dk udkjkRed i{k gksrk gS 
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Heat of solution ?kksy dh xehZ

Heat of dissolution fo?kVu dh xehZ

Heat of reaction izfrfØ;k dh xehZ

More than one of the above mi;qZä esa ls ,d ls vf/kd  

None of the above mi;qZä esa ls dksbZ ugha

23   A solution made up of numerous components in which each component’s property is the weighted sum of
its separate properties is called

 dbZ ?kVdksa ls cuk ,d lek/kku ftlesa izR;sd ?kVd ds xq.k mlds vyx&vyx xq.kksa dk Hkkfjr ;ksx gS] gS

Ideal solution vkn’kZ foy;u

Non-ideal solution xSj&vkn’kZ foy;u

real solution okLrfod foy;u

More than one of the above mi;qZä esa ls ,d ls vf/kd  

None of the above mi;qZä esa ls dksbZ ugha

24 What is an example of camphor in N2 gas? N2 xSl esa diZwj dk ,d mnkgj.k gS

Solid-in-gas solution xSl ds ?kksy esa Bksl

Gas-in-gas solution xSl foy;u esa xSl

 Solid-in-liquid solution rjy ?kksy esa Bksl

 More than one of the above mi;qZä esa ls ,d ls vf/kd
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None of the above mi;qZä esa ls dksbZ ugha

25   What happens when a solute crystal is added to a supersaturated solution? D;k gksrk gS tc ,d foys; fØLVy dks
lqijlSpqjsVsM ?kksy esa feyk;k tkrk gS\

It becomes a colloidal solution ;g dksykWbMh foy;u cu tkrk gS

The solute dissolves in the solution foys; ?kksy esa ?kqy tkrk gS

The solute precipitates out of the solution foys; ?kksy ls ckgj fudy tkrk gS

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

26 Which of the following assertions about the main cell is correct?
 Ekq[; lsy ds ckjs esa] fuEufyf[kr esa ls dkSu&lk nkok lgh gS\

An example of a primary cell is a mercury cell izkFkfed lsy dk ,d mnkgj.k ikjk lsy gS

An example of a primary cell is a nickel-caduium storage cell izkFkfed lsy dk ,d mnkgj.k fudy&dSMfe;e HkaMkj.k
lsy gS

The electrode reactions can be reversed bysDVªksM izfrfØ;kvksa dks mYVk fd;k tk ldrk gS

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

27  In a dry cell, which of the following is the electrolyte?
’kq"d lsy esa] fuEufyf[kr esa ls dkSu&lk fo|qr vi?kV~; gS\
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Potassium hydroxide iksVSf’k;e gkbMªkWDlkbM

Sulphuric acid lY¶;wfjd vEy

Ammonium chloride veksfu;e DyksjkbM

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

28   Which of the following statements about a lead storage cell (or a lead-acid battery) is False?     ysM LVksjst lsy
¼;k ysM&,sflM cSVjh½ ds ckjs esa] fuEufyf[kr esa ls dkSu&lk dFku X+kyr gS\

It is a primary cell ;g ,d izkFkfed lsy gSA

The cathode is made up of lead (IV) oxide dSFkksM ysM (IV) vkWDlkbM ls cuk gksrk gSA

The anode is made up of lead ,suksM lhls ls cuk gksrk gSA

More than one of the above mi;qZä esa ls ,d ls vf/kd 

None of the above mi;qZä esa ls dksbZ ugha

29  The study of reaction kinetics is called     izfrfØ;k xfrdh ds v/;;u dks dgk tkrk gS

Rate of reaction izfrfØ;k dh nj

mechanism of reaction izfrfØ;k dk ra=
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factors which affect the rate of reaction dkjd] tks izfrfØ;k dh nj dks izHkkfor djrs gSa

More than one of the above  mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

30 The reaction rate constant can be defined as the rate of reaction when each reactant’s concentration
is izfrfØ;k nj fLFkjkad dks izfrfØ;k dh nj ds :Ik esa ifjHkkf"kr fd;k tk ldrk gS] tc izR;sd vfHkdkjd dh lkanzrk

zero ’kwU; gksrh gS 

unity ;wfuVh gksrh gS

doubled the initial concentration izkjafHkd lkanzrk dh nqxuh gks tkrh gS

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

31 Which of the following is the right temperature coefficient  expression? fuEufyf[kr esa ls dkSu&lk lgh rkieku
xq.kkad  vfHkO;fä gS\

  n = rate constant at   rate constant at 

n = rate constant at   rate constant at 

n = rate constant at   rate constant at 

More than one of the above mi;qZä esa ls ,d ls vf/kd
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None of the above mi;qZä esa ls dksbZ ugha

32 When the temperature rises, what happens to the peak of the curve in the Maxwell-Boltzmann distribution
graph?

 tc rkieku c<+rk gS] rks eSDlosy&cksYV~T+keku forj.k xzkQ esa oØ ds f’k[kj ij D;k gksrk gS\

Shifts forward and upward vkxs vkSj Åij dh vksj f’k¶V gksrk gS

Shifts forward and downward vkxs vkSj uhps dh vksj f’k¶V gksrk gS

shifts backward and upward ihNs vkSj Åij dh vksj f’k¶V gksrk gS

More than one of the above  mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

33 Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction
rates

rkieku vkSj izfrfØ;k nj ds chp ,d xzkQ cukus ls izfrfØ;k nj dh rkieku fuHkZjrk dk irk py ldrk gS

Concentration of reactants and temperaturevfHkdkjdksa vkSj rkieku dh lkanzrk

Concentration of products and temperaturemRiknksa vkSj rkieku dh ,dkxzrk

Rate constant and temperaturenj fLFkjkad vkSj rkieku

More than one of the above  mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha
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34 What effect does temperature have on the half-life of a first-order reaction? izFke&Øe izfrfØ;k ds v/kZ&thou ij
rkieku dk D;k izHkko iM+rk gS

It increases ;g c<+rk gS

It decrease ;g ?kVrk gS

It remains the same ;g oSlk gh jgrk gS

More than one of the above  mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

35 Only a simple homogeneous reaction requires which of the following methods?  dsoy ,d lk/kkj.k ltkrh;
izfrfØ;k ds fy, fuEufyf[kr esa ls fdl fof/k dh vko’;drk gksrh gS\

Integration method ,dhdj.k fof/k

Half-life period method v/kZ&thou vof/k fof/k

Graphical method xzkfQdy fof/k

More than one of the above  mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

36   In 30 minutes, a first-order reaction is 50% complete. Calculate the amount of time it took to complete
87.5% of the reaction.

 30 feuV esa] izFke&Øe izfrfØ;k 50% iwjh gks tkrh gSA 87-5% izfrfØ;k dks iwjk djus esa yxus okys le; dh x.kuk djsaA
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30 minutes 30 feuV

60 minutes 60 feuV

90 minutes 90 feuV

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugha

37  What is the heat of reaction for ethyl acetate hydrolysis?  ,fFky ,lhVsV ty vi?kVu ds fy, vfHkfØ;k& Å"ek D;k gS\

Greater than zero ’kwU; ls vf/kd

Less than zero ’kwU; ls de

Zero ’kwU;

More than one of the above mi;qZä esa ls ,d ls vf/kd

None of the above mi;qZä esa ls dksbZ ugh

38  The critical temperature value obtained from van der Waals equation is oSu Msj okYl lehdj.k ls izkIr Økafrd
rkieku eku gS

a/Rb 

8a/27Rb
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a/27b2

More than one of the above mi;qZDr esa ls ,d ls vf/kd

None of the above mi;qZDr esa ls dksbZ ugha

39   The RMS velocity of oxygen molecule in the lungs at the normal body temperature, 370C (given

R=8.314×107) is

   ’kjhj ds lkekU; rkieku] 370C ij QsQM+ksa esa vkWDlhtu v.kq dk RMS osx gS (R=8.314×107)

4.92×104

6.63×104

16.6×105

More than one of the above mi;qZDr esa ls ,d ls vf/kd

None of the above mi;qZDr esa ls dksbZ ugha

40    Which of the following statements about crystalline solids is false? fØLVyh; Bkslksa ds ckjs esa fuEufyf[kr esa ls dkSu
lk dFku xyr gS\

Definite geometrical shape fuf’pr T;kferh; vkdkj

Sharp melting point rhoz xyukad

Isotropic in nature ç—fr esa vkblksVªksfid



TEST-04 PHYSICAL CHEMISTRY · MCQ · Questions Page 18 of 29

Correct: +2

Correct: +2

Correct: +2

More than one of the above mi;qZDr esa ls ,d ls vf/kd

None of the above mi;qZDr esa ls dksbZ ugha

41 Which of the following is a network solid?  fuEufyf[kr esa ls dkSu lk ,d usVodZ Bksl gS

CCl4

NaCl

SiO2

More than one of the above mi;qZDr esa ls ,d ls vf/kd

None of the above mi;qZDr esa ls dksbZ ugha

42   What are the possible variations in the tetragonal system?  prq"dks.kh; iz.kkyh esa laHkkfor fofo/krk,¡ D;k gS\

Primitive fizfefVo 

Body-centred ckWMh&lsaVMZ

Face-centred Qsl&lsaVMZ

More than one of the above mi;qZDr esa ls ,d ls vf/kd

None of the above mi;qZDr esa ls dksbZ ugha
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43    For a chemical reaction with rise in temperature by 100, the rate constant is nearly  rkieku 100 dh o`f) ds lkFk
,d jlk;fud izfrfØ;k ds fy,] nj fLFkjkad yxHkx gS

Half vk/kk

Double nksxquk

 Zero ’kwU;

More than one of the above mi;qZDr esa ls ,d ls vf/kd

None of the above mi;qZDr esa ls dksbZ ugha

44 The substance which reduces the rate of reaction is og inkFkZ tks izfrfØ;k dh nj dks de djrk gS og gS\

Inhibitor vojks/kd

Catalyst mRizsjd+

Collision frequency Vdjko dh vko`fr

More than one of the above mi;qZDr esa ls ,d ls vf/kd

None of the above mi;qZDr esa ls dksbZ ugha

45 Which of the following statements is false?  fuEu dFkuksa esa ls dkSu ls xyr gSa\

Mathematical representation of rate of a reaction is given by rate law fdlh izfrfØ;k dh nj dk xf.krh; fu:i.k nj
fu;e }kjk fn;k tkrk gS
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Rate constant is the proportionality factor in the rate law nj fLFkjkad nj dkuwu esa vkuqikfrdrk dkjd gS

Molecularity can be zero or an integer vk.kfodrk ’kwU; ;k iw.kkZad gks ldrh gS

More than one of the above mi;qZDr esa ls ,d ls vf/kd

None of the above mi;qZDr esa ls dksbZ ugha

46 The rate of a reaction was found to be equal to its rate constant at any concentration of the reactant. The
order of the reaction is   fdlh vfHkfØ;k dk osx vfHkdkjd dh fdlh Hkh lkanzrk ij mlds osx fLFkjkad ds cjkcj ikbZ xbZA
ml vfHkfØ;k dh dksfV gS

First ordern izFke dksfV

Zero order ’kqU; dksfV

Second order f}rh; dksfV

More than one of the above mi;qZDr esa ls ,d ls vf/kd

None of the above mi;qZDr esa ls dksbZ ugha

47    Which of the following is an example of solid solutions? fuEufyf[kr esa ls dkSu lk Bksl foy;u dk mnkgj.k gS\

Camphor in nitrogen gas ukbVªkstu xSl esa diwj

Oxygen dissolved in water ikuh esa ?kqyh gqbZ vkWDlhtu

Hydrogen in palladium iSysfM;e esa gkbMªkstu
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More than one of the above mi;qZDr esa ls ,d ls vf/kd

None of the above mi;qZDr esa ls dksbZ ugha

48 The molarity of a solution containing 5g of NaOH in 450 mL solution is   450 mL ?kksy esa 5 xzke NaOH okys ?
kksy dh eksyjrk gS

0.278 M

0.378 M

0.478 M

More than one of the above mi;qZDr esa ls ,d ls vf/kd

None of the above mi;qZDr esa ls dksbZ ugha

49    Isotonic solutions have same  laijklkjh foy;u ds lkeku gksrs gS

Osmotic pressure ijklj.k nkc

Lowering of vapour pressure ok"Ik nkc dk voueu

Depression of freezing point fgekad dk voueu

More than one of the above mi;qZDr esa ls ,d ls vf/kd

None of the above mi;qZDr esa ls dksbZ ugha
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Correct: +2

50 A gas can be liquefied by pressure only if its temperature is िकसी गैस को दाब �ारा केवल तभी द्रिवत िकया जा सकता
है जब उसका तापमान

More than the critical temperature �ांितक तापमान से अिधक

Less than the critical temperature �ांितक तापमान से कम

Equal to the critical temperature �ांितक तापमान के बराबर

More than one of the above उपरोक्त म� से एक से अिधक

None of the above इनमे से कोई भी नही ं
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TEST

TEST-04 PHYSICAL CHEMISTRY

ANSWERS

SECTIONS

1. MCQ - 50 Questions

Section 1 : MCQ - 50 Questions

1 2.49 × 105 Pa

2

3 Methane ehFksu

4 Acetone ,lhVksu

5 Zero ’kwU;

6 More than one of the above mi;qZä esa ls ,d ls vf/kd

7 +7, +6, +7

8

9

More than one of the above mi;qZä esa ls ,d ls vf/kd

 

10 Phenolphthalein  QhukW¶Fkyhu
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11  is negative

12 More than one of the above mi;qZä esa ls ,d ls vf/kd

13 Crystalline solids fØLVyh; Bksl

14 Unit cell ;wfuV lsy

15 rhombic, monoclinicjkWfEcd] eksuksfDyfud

16 14

17 Aqueous solution, melt, glass or gel tyh; ?kksy] fi?kyk gqvk] dk¡p ;k tsy

18 Partial volume vkaf’kd vk;ru

19 partial pressure vkaf’kd ncko

20 Ideal solution vkn’kZ foy;u

21 2V

22
More than one of the above mi;qZä esa ls ,d ls vf/kd
 

23 Ideal solution vkn’kZ foy;u

24 Solid-in-gas solution xSl ds ?kksy esa Bksl

25 The solute precipitates out of the solution foys; ?kksy ls ckgj fudy tkrk gS

26 An example of a primary cell is a mercury cell izkFkfed lsy dk ,d mnkgj.k ikjk lsy gS

27 Ammonium chloride veksfu;e DyksjkbM
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28 It is a primary cell ;g ,d izkFkfed lsy gSA

29 More than one of the above  mi;qZä esa ls ,d ls vf/kd

30 unity ;wfuVh gksrh gS

31   n = rate constant at   rate constant at 

32 Shifts forward and downward vkxs vkSj uhps dh vksj f’k¶V gksrk gS

33

Rate constant and temperature

nj fLFkjkad vkSj rkieku

34 It decrease ;g ?kVrk gS

35 More than one of the above  mi;qZä esa ls ,d ls vf/kd

36 90 minutes 90 feuV

37 Zero ’kwU;

38 8a/27Rb

39 4.92×104

40 Isotropic in nature ç—fr esa vkblksVªksfid

41 SiO2
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42 More than one of the above mi;qZDr esa ls ,d ls vf/kd

43 Double nksxquk

44 Inhibitor vojks/kd

45 Molecularity can be zero or an integer vk.kfodrk ’kwU; ;k iw.kkZad gks ldrh gS

46 Zero order ’kqU; dksfV

47 Hydrogen in palladium iSysfM;e esa gkbMªkstu

48 0.278 M

49 Osmotic pressure ijklj.k nkc

50 Less than the critical temperature �ांितक तापमान से कम

For Free Test Download The Rasayanam APP

http://on-app.in/app/home?orgCode=wnoqi

https://example.com
http://on-app.in/app/home?orgCode=wnoqi



